
R
-0

7.
11

.0
7 

  S
TR

-0
83

35
-0

14
2

1

U
LT

R
A 

&
 M

IL
LE

N
N

IU
M

 S
EC

U
R

IT
Y 

C
A

SE
 IN

ST
R

U
C

TI
O

N
S



R
-0

7.
11

.0
7 

  S
TR

-0
83

35
-0

14
2

2

U
LT

R
A 

&
 M

IL
LE

N
N

IU
M

 S
EC

U
R

IT
Y 

C
A

SE
 IN

ST
R

U
C

TI
O

N
S

3 00060-1123 10 x 5/8 sheet metal screw
3 00060-1370 10-16 x 3/4 tek screw
2 00060-1064 10-32 x 1/2 machine screw
2 00060-1155 10-32 hex nut
2 00060-1166 1/4 washer
2 08601-2087 36” double sided tape

QTY  PART #        DESCRIPTION

HARDWARE INCLUDED

door
assembly

existing gondola

left end panel

support strap right end panel

top shelf

gap filler



R
-0

7.
11

.0
7 

  S
TR

-0
83

35
-0

14
2

3

U
LT

R
A 

&
 M

IL
LE

N
N

IU
M

 S
EC

U
R

IT
Y 

C
A

SE
 IN

ST
R

U
C

TI
O

N
S

Place the top shelf into the gondola at the
desired height. For example, if you want to
build a 16” x 48” x 30” security case you
would place the top shelf about 30” from
the bottom of the shelf bracket to the
shelf or deck below (see below).

1

Ultra fixture pictured

+ 30”



R
-0

7.
11

.0
7 

  S
TR

-0
83

35
-0

14
2

4

U
LT

R
A 

&
 M

IL
LE

N
N

IU
M

 S
EC

U
R

IT
Y 

C
A

SE
 IN

ST
R

U
C

TI
O

N
S

With the front of the door assembly
facing away from you (door handles are
away from you) slide the support straps
into the channel closest to you about 8”
from each end.

2

With the front of the door assembly facing
you slide the gap filler in from one end to
the other so the gap filler is centered in the
frame of the door assembly.

3

2
3 2

fro
nt

 o
f 

do
or

 a
ss

em
bl

y
support strap

fro
nt

 o
f 

do
or

 a
ss

em
bl

y

support strap
gap filler



R
-0

7.
11

.0
7 

  S
TR

-0
83

35
-0

14
2

5

U
LT

R
A 

&
 M

IL
LE

N
N

IU
M

 S
EC

U
R

IT
Y 

C
A

SE
 IN

ST
R

U
C

TI
O

N
S

With the front of the door assembly
facing you tip the top in slightly and
insert the gap filler behind the ticket
moulding, then slide the bottom of the
door assembly in so it sits vertical on
the bottom shelf or deck.

4

Attach the support strap on the back-
side of the door assembly to the outer–
most hat on the top shelf using one (1)
10-16 x 3/4” tek screw per support strap.

5

support strap
gap filler

shelf bracket is transparent for clarity

4

5

5

ha
t

support strap

shelf bracket



R
-0

7.
11

.0
7 

  S
TR

-0
83

35
-0

14
2

6

U
LT

R
A 

&
 M

IL
LE

N
N

IU
M

 S
EC

U
R

IT
Y 

C
A

SE
 IN

ST
R

U
C

TI
O

N
S

Attach the bottom of the door assembly
to the bottom shelf or deck with two (2)
10 x 5/8” sheet metal screws, 1 per  end
end of the door assembly.

6

6

6



R
-0

7.
11

.0
7 

  S
TR

-0
83

35
-0

14
2

7

U
LT

R
A 

&
 M

IL
LE

N
N

IU
M

 S
EC

U
R

IT
Y 

C
A

SE
 IN

ST
R

U
C

TI
O

N
S

Apply one piece of double face tape to
the inside of each end panel (end panel
hooks face in). If the height of the end
panel is shorter then the length of tape
trim the tape to run between the two
holes in the end panel. If the end panel
is taller then the length of tape cut the
tape in half and apply each half one just
below the top hole and the other just
above the bottom hole as pictured to the
left and below.

7

Hook the end panels into the slots on
the uprights so the hole in the end panel
aligns with the keyed hole on the shelf
as pictured to the left. When installed
the end panel should overlap the top
shelf slightly as well as the bottom shelf
or deck.

8

7

7

8

8

end panel

top shelf



R
-0

7.
11

.0
7 

  S
TR

-0
83

35
-0

14
2

8

U
LT

R
A 

&
 M

IL
LE

N
N

IU
M

 S
EC

U
R

IT
Y 

C
A

SE
 IN

ST
R

U
C

TI
O

N
S

Secure the end panel to the top shelf using
one (1) 10-32 x 1/2” machine screw,
washer and hex nut per end panel. The
washer goes inside the security case with
the nut.

9

9

9


